EXISTENCE OF NONOSCILLATORY SOLUTIONS OF SECOND-ORDER NEUTRAL DIFFERENTIAL EQUATIONS

B. $\mathrm{QINA}^1,\,\mathrm{T.}\;\mathrm{CANDAN}^2,\,\mathrm{M.}\;\mathrm{T.}\;\mathrm{\S ENEL}^3,\;\S$

ABSTRACT. We obtain some sufficient conditions for the existence of nonoscillatory solutions of nonlinear second order neutral differential equation with forcing term. Our results improve and extend some existing results. Examples are also included to illustrate our results.

Keywords: Fixed point, Second-order, Nonoscillatory solution.

AMS Subject Classification: 34K11, 34K40.

1. Introduction

In this work, we study the second-order neutral nonlinear differential equation

$$(r(t)(x(t) - p(t)x(t - \tau))')' + f_1(t, x(\sigma_1(t))) - f_2(t, x(\sigma_2(t))) = g(t),$$
(1)

where $p, g \in C([t_0, \infty), \mathbb{R}), \tau > 0, r \in C([t_0, \infty), (0, \infty))$ and $\sigma_i \in C([t_0, \infty), \mathbb{R})$ with $\lim_{t \to \infty} \sigma_i(t) = \infty, i = 1, 2.$

Throughout this paper, we assume that $f_i(t,x) \in C([t_0,\infty) \times \mathbb{R}, \mathbb{R})$ is a nondecreasing in x for $i=1,2, xf_i(t,x) > 0$ for $x \neq 0, i=1,2$, and satisfies

$$|f_i(t,x) - f_i(t,y)| \le q_i(t)|x - y| \quad \text{for} \quad t \in [t_0, \infty) \quad \text{and} \quad x, y \in [a, b], \tag{2}$$

where $q_i \in C([t_0, \infty), \mathbb{R}^+)$, i = 1, 2, and [a, b] (0 < a < b or a < b < 0) is any closed interval. Furthermore, suppose that

$$\int_{t_0}^{\infty} \int_{t_0}^{s} \frac{q_i(u)}{r(s)} du ds < \infty, \quad i = 1, 2,$$
(3)

$$\int_{t_0}^{\infty} \int_{t_0}^{s} \frac{|f_i(u,d)|}{r(s)} du ds < \infty \quad \text{for some } d \neq 0, \ i = 1, 2,$$

$$\tag{4}$$

Gemerek Vocational School, Cumhuriyet University, Gemerek, Sivas, Turkey, e-mail: bengu58cina@gmail.com; ORCID: https://orcid.org/0000-0003-1294-0983.

² Department of Mathematics, College of Engineering and Technology, American University of the Middle East, Kuwait.

e-mail: tuncay.candan@aum.edu.kw; ORCID: https://orcid.org/0000-0002-6603-3732.

³ Department of Mathematics, Faculty of Sciences, Erciyes University, Kayseri, Turkey. e-mail: senel@erciyes.edu.tr; ORCID: https://orcid.org/0000-0003-1915-5697.

[§] Manuscript received: July 13, 2017; accepted: September 20, 2017.

TWMS Journal of Applied and Engineering Mathematics, Vol.9, No.3 © Işık University, Department of Mathematics, 2019; all rights reserved.

and

$$\int_{t_0}^{\infty} \int_{t_0}^{s} \frac{|g(u)|}{r(s)} du ds < \infty \tag{5}$$

hold. The motivation of this paper comes from the work of Yang, Zhang and Ge in [10], where they investigated the existence of nonoscillatory solutions of the following equations

$$(x(t) - p(t)x(t - \tau))'' + f_1(t, x(\sigma_1(t))) - f_2(t, x(\sigma_2(t))) = 0$$
(6)

and

$$(x(t) - p(t)x(t - \tau))'' + f_1(t, x(\sigma_1(t))) - f_2(t, x(\sigma_2(t))) = g(t),$$
(7)

where $f_i(t, x)$, i = 1, 2 are nondecreasing in x. For the other works and related books concerning existence of nonoscillatory solutions of neutral differential and difference equations, we refer to [1–9] and references cited therein.

When we take r(t) = 1 and g(t) = 0, and r(t) = 1 in equation (1), we obtain (6) and (7), respectively. That means the results in current paper is more general than the results in [10].

The purpose of this paper is to present some new sufficient conditions for the existence of nonoscillatory solutions of (1).

Let $T_0 = \min\{t_1 - \tau, \inf_{t \geq t_1} \sigma_1(t), \inf_{t \geq t_1} \sigma_2(t)\}$ for $t_1 \geq t_0$. By a solution of equation (1), we mean a function $x \in C([T_0, \infty), \mathbb{R})$ in the sense that both $x(t) - p(t)x(t - \tau)$ and $r(t)(x(t) - p(t)x(t - \tau))'$ are continuously differentiable on $[t_1, \infty]$ and such that equation (1) is satisfied for $t \geq t_1$.

As is customary, a solution of (1) is said to be oscillatory if it has arbitrarily large zeros. Otherwise the solution is called nonoscillatory.

Throughout this paper, we suppose that X is the set of all continuous and bounded functions on $[t_0, \infty)$ with the sup norm.

2. Main Results

Theorem 2.1. Assume that (3)-(5) hold and $0 \le p(t) \le p < 1$. Then (1) has a bounded nonoscillatory solution.

Proof. Suppose (4) holds with d > 0, the case d < 0 can be treated similarly. Set

$$A = \{x \in X : N_1 \le x(t) \le d, \quad t \ge t_0\},\$$

where N_1 is a positive constant such that

$$N_1 < (1-p)d$$
.

It is clear that A is a closed, bounded and convex subset of X. In view of (3)-(5) there exists a $t_1 > t_0$ sufficiently large such that $t - \tau \ge t_0$, $\sigma_1(t) \ge t_0$, $\sigma_2(t) \ge t_0$ for $t \ge t_1$ and

$$p + 2 \int_{t_1}^{\infty} \int_{t_1}^{s} \frac{q_i(u)}{r(s)} du ds \le \theta_1 < 1, \quad i = 1, 2,$$
 (8)

where θ_1 is a constant

$$\int_{t_1}^{\infty} \int_{t_1}^{s} \frac{1}{r(s)} [f_1(u, d) + |g(u)|] du ds \le (1 - p)d - \alpha$$
(9)

and

$$\int_{t_1}^{\infty} \int_{t_1}^{s} \frac{1}{r(s)} [f_2(u, d) + |g(u)|] du ds \le \alpha - N_1, \tag{10}$$

where $\alpha \in (N_1, (1-p)d)$. Define a mapping $S: A \longrightarrow X$ as follows:

$$(Sx)(t) = \begin{cases} \alpha + p(t)x(t-\tau) + \int_t^\infty \frac{1}{r(s)} \int_{t_1}^s [f_1(u, x(\sigma_1(u))) - f_2(u, x(\sigma_2(u))) - g(u)] du ds, & t \ge t_1 \\ (Sx)(t_1), & t_0 \le t \le t_1. \end{cases}$$

Clearly Sx is continuous. For every $x \in A$ and $t \ge t_1$, using (9), we have

$$(Sx)(t) = \alpha + p(t)x(t-\tau) + \int_{t}^{\infty} \int_{t_{1}}^{s} \frac{1}{r(s)} [f_{1}(u, x(\sigma_{1}(u))) - f_{2}(u, x(\sigma_{2}(u))) - g(u)] du ds$$

$$\leq \alpha + pd + \int_{t_{1}}^{\infty} \int_{t_{1}}^{s} \frac{1}{r(s)} [f_{1}(u, d) + |g(u)|] du ds$$

$$\leq d$$

and taking (10) into account, we have

$$(Sx)(t) = \alpha + p(t)x(t-\tau) + \int_{t}^{\infty} \int_{t_{1}}^{s} \frac{1}{r(s)} [f_{1}(u, x(\sigma_{1}(u))) - f_{2}(u, x(\sigma_{2}(u))) - g(u)] du ds$$

$$\geq \alpha - \int_{t_{1}}^{\infty} \int_{t_{1}}^{s} \frac{1}{r(s)} [f_{2}(u, d) + |g(u)|] du ds$$

$$\geq N_{1}.$$

Then $SA \subset A$. Now we show that S is a contraction mapping on A. In fact, for $x, y \in A$ and $t \ge t_1$, in view of (2) and (8), we have

$$|(Sx)(t) - (Sy)(t)| \leq p|x(t-\tau) - y(t-\tau)|$$

$$+ \sum_{i=1}^{2} \int_{t}^{\infty} \frac{1}{r(s)} \int_{t_{1}}^{s} |f_{i}(u, x(\sigma_{i}(u))) - f_{i}(u, y(\sigma_{i}(u)))| du ds$$

$$\leq p|x(t-\tau) - y(t-\tau)|$$

$$+ \sum_{i=1}^{2} \int_{t_{1}}^{\infty} \frac{1}{r(s)} \int_{t_{1}}^{s} q_{i}(u)|x(\sigma_{i}(u)) - y(\sigma_{i}(u))| du ds$$

$$\leq ||x-y|| \left[p + \sum_{i=1}^{2} \int_{t_{1}}^{\infty} \int_{t_{1}}^{s} \frac{q_{i}(u)}{r(s)} du ds \right]$$

$$\leq \theta_{1} ||x-y||,$$

where we used sup norm. Then it follows that

$$||Sx - Sy|| < \theta_1 ||x - y||$$

Since $\theta_1 < 1$, S is a contraction mapping on A. Consequently, S has the unique fixed point $x \in A$ such that Sx = x, which is obviously a positive solution of (1). This completes the proof.

Theorem 2.2. Assume that (3)-(5) hold and $1 < p_1 \le p(t) \le p_2 < \infty$. Then (1) has a bounded nonoscillatory solution.

Proof. Suppose (4) holds with d > 0, the case d < 0 can be treated similarly. Set

$$A = \{x \in X : N_2 \le x(t) \le d, t \ge t_0\},\$$

where N_2 is a positive constant such that

$$p_2 N_2 < (p_1 - 1)d.$$

It is obvious that A is a closed, bounded and convex subset of X. In view of (3)-(5) there exists a $t_1 > t_0$ sufficiently large such that $\sigma_1(t+\tau) \ge t_0$, $\sigma_2(t+\tau) \ge t_0$ for $t \ge t_1$ and

$$\frac{1}{p_1} \left[1 + 2 \int_{t_1}^{\infty} \int_{t_1}^{s} \frac{q_i(u)}{r(s)} du ds \right] \le \theta_2 < 1, \quad i = 1, 2, \tag{11}$$

where θ_2 is a constant,

$$\int_{t_1}^{\infty} \int_{t_1}^{s} \frac{1}{r(s)} [f_1(u,d) + |g(u)|] du ds \le \alpha - p_2 N_2$$
(12)

and

$$\int_{t_1}^{\infty} \int_{t_1}^{s} \frac{1}{r(s)} [f_2(u,d) + |g(u)|] du ds \le (p_1 - 1)d - \alpha, \tag{13}$$

where $\alpha \in (p_2N_2, (p_1-1)d)$. Define a mapping $S: A \longrightarrow X$ as follows:

$$(Sx)(t) = \begin{cases} \frac{1}{p(t+\tau)} \left[\alpha + x(t+\tau) - \int_{t+\tau}^{\infty} \frac{1}{r(s)} \int_{t_1+\tau}^{s} [f_1(u, x(\sigma_1(u))) - f_2(u, x(\sigma_2(u))) - g(u)] du ds \right], & t \ge t_1 \\ (Sx)(t_1), & t_0 \le t \le t_1. \end{cases}$$

Clearly, Sx is continuous. For every $x \in A$ and $t \ge t_1$, using (13), we have

$$(Sx)(t) = \frac{1}{p(t+\tau)} \left[\alpha + x(t+\tau) - \int_{t+\tau}^{\infty} \int_{t_1+\tau}^{s} \frac{1}{r(s)} [f_1(u, x(\sigma_1(u))) - f_2(u, x(\sigma_2(u))) - g(u)] du ds \right]$$

$$\leq \frac{1}{p_1} \left[\alpha + d + \int_{t_1}^{\infty} \int_{t_1}^{s} \frac{1}{r(s)} [f_2(u, d) + |g(u)|] du ds \right]$$

$$\leq d$$

and taking (12) into account, we have

$$(Sx)(t) = \frac{1}{p(t+\tau)} \left[\alpha + x(t+\tau) - \int_{t+\tau}^{\infty} \int_{t_1+\tau}^{s} \frac{1}{r(s)} [f_1(u, x(\sigma_1(u))) - f_2(u, x(\sigma_2(u))) - g(u)] du ds \right]$$

$$\geq \frac{1}{p(t+\tau)} \left[\alpha - \int_{t_1+\tau}^{\infty} \int_{t_1+\tau}^{s} \frac{1}{r(s)} [f_1(u, d) + |g(u)|] du ds \right]$$

$$\geq \frac{1}{p_2} \left[\alpha - \int_{t_1}^{\infty} \int_{t_1}^{s} \frac{1}{r(s)} [f_1(u, d) + |g(u)|] du ds \right]$$

$$\geq N_2.$$

Then $SA \subset A$. Now we show that S is a contraction mapping on A. In fact, for $x, y \in A$ and $t \ge t_1$, in view of (2) and (11), we have

$$|(Sx)(t) - (Sy)(t)| \leq \frac{1}{p(t+\tau)} \Big[|x(t+\tau) - y(t+\tau)| \\ + \sum_{i=1}^{2} \int_{t+\tau}^{\infty} \frac{1}{r(s)} \int_{t_{1}+\tau}^{s} |f_{i}(u, x(\sigma_{i}(u))) - f_{i}(u, y(\sigma_{i}(u)))| du ds \Big] \\ \leq \frac{\|x-y\|}{p_{1}} \Big[1 + \sum_{i=1}^{2} \int_{t_{1}}^{\infty} \int_{t_{1}}^{s} \frac{q_{i}(u)}{r(s)} du ds \Big] \\ \leq \theta_{2} \|x-y\|,$$

where we used sup norm. This immediately implies that

$$||Sx - Sy|| \le \theta_2 ||x - y||.$$

Since $\theta_2 < 1$, S is a contraction mapping on A. Consequently, S has the unique fixed point $x \in A$ such that Sx = x, which is obviously a positive solution of (1). This completes the proof.

Theorem 2.3. Assume that (3)-(5) hold and $-1 < -p \le p(t) \le 0$. Then (1) has a bounded nonoscillatory solution.

Proof. Suppose (4) holds with d > 0, the case d < 0 can be treated similarly. Set

$$A = \{x \in X : N_3 \le x(t) \le d, \quad t \ge t_0\},\$$

where N_3 is a positive constant such that

$$N_3 + pd < d$$
.

It is clear that A is a closed, bounded and convex subset of X. In view of (3)-(5) there exists a $t_1 > t_0$ sufficiently large such that $t - \tau \ge t_0$, $\sigma_1(t) \ge t_0$, $\sigma_2(t) \ge t_0$ for $t \ge t_1$ and

$$p + 2 \int_{t_1}^{\infty} \int_{t_1}^{s} \frac{q_i(u)}{r(s)} du ds \le \theta_3 < 1, \quad i = 1, 2,$$
(14)

where θ_3 is a constant,

$$\int_{t_1}^{\infty} \int_{t_1}^{s} \frac{1}{r(s)} [f_1(u, d) + |g(u)|] du ds \le d - \alpha$$
 (15)

and

$$\int_{t_1}^{\infty} \int_{t_1}^{s} \frac{1}{r(s)} [f_2(u,d) + |g(u)|] du ds \le \alpha - N_3 - pd, \tag{16}$$

where $\alpha \in (N_3 + pd, d)$. Define a mapping $S : A \longrightarrow X$ as follows:

$$(Sx)(t) = \begin{cases} \alpha + p(t)x(t-\tau) + \int_t^\infty \frac{1}{r(s)} \int_{t_1}^s [f_1(u, x(\sigma_1(u))) - f_2(u, x(\sigma_2(u))) - g(u)] du ds, \ t \ge t_1 \\ (Sx)(t_1), \ t_0 \le t \le t_1. \end{cases}$$

Clearly, Sx is continuous. For every $x \in A$ and $t \ge t_1$, using (15), we have

$$(Sx)(t) = \alpha + p(t)x(t-\tau) + \int_{t}^{\infty} \int_{t_{1}}^{s} \frac{1}{r(s)} [f_{1}(u, x(\sigma_{1}(u))) - f_{2}(u, x(\sigma_{2}(u))) - g(u)] du ds$$

$$\leq \alpha + \int_{t_{1}}^{\infty} \int_{t_{1}}^{s} \frac{1}{r(s)} [f_{1}(u, d) + |g(u)|] du ds$$

$$\leq d$$

and taking (16) into account, we have

$$(Sx)(t) = \alpha + p(t)x(t-\tau) + \int_{t}^{\infty} \int_{t_{1}}^{s} \frac{1}{r(s)} [f_{1}(u, x(\sigma_{1}(u))) - f_{2}(u, x(\sigma_{2}(u))) - g(u)] du ds$$

$$\geq \alpha - pd - \int_{t_{1}}^{\infty} \int_{t_{1}}^{s} \frac{1}{r(s)} [f_{2}(u, d) + |g(u)|] du ds$$

$$\geq N_{3}.$$

Then $SA \subset A$. Now we show that S is a contraction mapping on A. In fact, for $x, y \in A$ and $t \ge t_1$, in view of (2) and (14), we have

$$\begin{split} |(Sx)(t) - (Sy)(t)| & \leq |p(t)||x(t-\tau) - y(t-\tau)| \\ & + \sum_{i=1}^{2} \int_{t}^{\infty} \frac{1}{r(s)} \int_{t_{1}}^{s} |f_{i}(u, x(\sigma_{i}(u))) - f_{i}(u, y(\sigma_{i}(u)))| du ds \\ & \leq p||x-y|| + \sum_{i=1}^{2} \int_{t_{1}}^{\infty} \frac{1}{r(s)} \int_{t_{1}}^{s} q_{i}(u)|x(\sigma_{i}(u)) - y(\sigma_{i}(u)))| du ds \\ & \leq ||x-y|| \Big[p + \sum_{i=1}^{2} \int_{t_{1}}^{\infty} \int_{t_{1}}^{s} \frac{q_{i}(u)}{r(s)} du ds \Big] \\ & \leq \theta_{3} ||x-y||, \end{split}$$

where we used sup norm. This implies that

$$||Sx - Sy|| < \theta_3 ||x - y||.$$

Since $\theta_3 < 1$, S is a contraction mapping on A. Consequently, S has the unique fixed point $x \in A$ such that Sx = x, which is obviously a positive solution of (1). This completes the proof.

Theorem 2.4. Assume that (3)-(5) hold and $-\infty < -p_1 \le p(t) \le -p_2 < -1$. Then (1) has a bounded nonoscillatory solution.

Proof. Suppose (4) holds with d > 0, the case d < 0 can be treated similarly. Set

$$A = \{x \in X : N_4 \le x(t) \le d, t \ge t_0\},\$$

where N_4 is a positive constant such that

$$p_1 N_4 + d < p_2 d$$
.

It is obvious that A is a closed, bounded and convex subset of X. In view of (3)-(5) there exists a $t_1 > t_0$ sufficiently large such that $\sigma_1(t+\tau) \ge t_0$, $\sigma_2(t+\tau) \ge t_0$ for $t \ge t_1$ and

$$\frac{1}{p_2} \left[1 + 2 \int_{t_1}^{\infty} \int_{t_1}^{s} \frac{q_i(u)}{r(s)} du ds \right] \le \theta_4 < 1, \quad i = 1, 2, \tag{17}$$

where θ_4 is a constant,

$$\int_{t_1}^{\infty} \int_{t_1}^{s} \frac{1}{r(s)} [f_1(u,d) + |g(u)|] du ds \le p_2 d - \alpha$$
(18)

and

$$\int_{t_1}^{\infty} \int_{t_1}^{s} \frac{1}{r(s)} [f_2(u,d) + |g(u)|] du ds \le \alpha - p_1 N_4 - d, \tag{19}$$

where $\alpha \in (p_1N_4 + d, p_2d)$. Define a mapping $S: A \longrightarrow X$ as follows:

$$(Sx)(t) = \begin{cases} -\frac{1}{p(t+\tau)} \left[\alpha - x(t+\tau) + \int_{t+\tau}^{\infty} \frac{1}{r(s)} \int_{t_1+\tau}^{s} [f_1(u, x(\sigma_1(u))) - f_2(u, x(\sigma_2(u))) - g(u)] du ds \right], & t \ge t_1 \\ (Sx)(t_1), & t_0 \le t \le t_1. \end{cases}$$

Clearly, Sx is continuous. For every $x \in A$ and $t \ge t_1$, using (18), we have

$$(Sx)(t) = -\frac{1}{p(t+\tau)} \left[\alpha - x(t+\tau) + \int_{t+\tau}^{\infty} \int_{t_1+\tau}^{s} \frac{1}{r(s)} [f_1(u, x(\sigma_1(u))) - f_2(u, x(\sigma_2(u))) - g(u)] du ds \right]$$

$$\leq \frac{1}{p_2} \left[\alpha + \int_{t_1}^{\infty} \int_{t_1}^{s} \frac{1}{r(s)} [f_1(u, d) + |g(u)|] du ds \right]$$

$$\leq d$$

and taking (19) into account, we have

$$(Sx)(t) = -\frac{1}{p(t+\tau)} \left[\alpha - x(t+\tau) + \int_{t+\tau}^{\infty} \int_{t_1+\tau}^{s} \frac{1}{r(s)} [f_1(u, x(\sigma_1(u))) - f_2(u, x(\sigma_2(u))) - g(u)] du ds \right]$$

$$\geq -\frac{1}{p(t+\tau)} \left[\alpha - d - \int_{t_1+\tau}^{\infty} \int_{t_1+\tau}^{s} \frac{1}{r(s)} [f_2(u, d) + |g(u)|] du ds \right]$$

$$\geq \frac{1}{p_1} \left[\alpha - d - \int_{t_1}^{\infty} \int_{t_1}^{s} \frac{1}{r(s)} [f_2(u, d) + |g(u)|] du ds \right]$$

$$\geq N_4.$$

Then $SA \subset A$. Now we show that S is a contraction mapping on A. In fact, for $x, y \in A$ and $t \geq t_1$, in view of (2) and (17), we have

$$|(Sx)(t) - (Sy)(t)| \leq \frac{1}{|p(t+\tau)|} \Big[|x(t+\tau) - y(t+\tau)| \\ + \sum_{i=1}^{2} \int_{t+\tau}^{\infty} \frac{1}{r(s)} \int_{t_{1}+\tau}^{s} |f_{i}(u, x(\sigma_{i}(u))) - f_{i}(u, y(\sigma_{i}(u)))| du ds \Big] \\ \leq \frac{\|x-y\|}{p_{2}} \Big[1 + \sum_{i=1}^{2} \int_{t_{1}}^{\infty} \int_{t_{1}}^{s} \frac{q_{i}(u)}{r(s)} du ds \Big] \\ \leq \theta_{4} \|x-y\|,$$

where we used sup norm. This implies that

$$||Sx - Sy|| < \theta_A ||x - y||$$

Since $\theta_4 < 1$, S is a contraction mapping on A. Consequently, S has the unique fixed point Sx = x, which obviously a positive solution of (1). This completes the proof.

Example 2.1. Consider the equation

$$\left(t^{2}(x(t) - \frac{1}{t}x(t-1))'\right)' + \frac{t-3}{(t-4)^{2}}x(t-3) - \frac{2t}{(t-2)^{3}}x^{3}(t-1) = \frac{1}{t-4}, \quad t_{0} > 4. \quad (20)$$

Note that $r(t) = t^2$, $p(t) = \frac{1}{t}$, $\tau = 1$, $\sigma_1(t) = t - 3$, $\sigma_2(t) = t - 1$, $f_1(t,x) = \frac{t-3}{(t-4)^2}x$, $f_2(t,x) = \frac{2t}{(t-2)^3}x^3$ and $g(t) = \frac{1}{t-4}$. It is easy to verify that the conditions of Theorem 2.1 are all satisfied and $x(t) = 1 - \frac{1}{t}$ is a nonoscillation solution of (20).

Example 2.2. Consider the equation

$$(\exp(t)(x(t) - (\exp(-t) + 2)x(t-1))')' + \exp(-t-2)x(t-2) - \exp(-t-3)x(t-3)$$

$$= -\exp(-t-3)(2\exp(4) - \exp(1) + 1). \tag{21}$$

Note that $r(t) = \exp(t)$, $p(t) = \exp(-t) + 2$, $\tau = 1$, $\sigma_1(t) = t - 2$, $\sigma_2(t) = t - 3$, $f_1(t, x) = \exp(-t - 2)x$, $f_2(t, x) = \exp(-t - 3)x$ and $g(t) = -\exp(-t - 3)(2\exp(4) - \exp(1) + 1)$. We can check that the conditions of Theorem 2.2 are all satisfied and $x(t) = \exp(-t) + 1$ is a nonoscillation solution of (21).

References

- [1] Agarwal, Ravi P., Grace, Said R. and O'Regan, Donal, (2000), Oscillation Theory for Difference and Functional Differential Equations, Kluwer Academic Publishers.
- [2] Agarwal, Ravi P., Bohner Martin and Li, Wan-Tong, (2004), Nonoscillation and Oscillation: Theory for Functional Differential Equations, Marcel Dekker, Inc., New York.
- [3] Candan, T. and Dahiya, R. S., (2010), Existence of nonoscillatory solutions of first and second order neutral differential equations with distributed deviating arguments, J. Franklin Inst., 347, pp. 1309-1316.
- [4] Candan, T., (2012), The existence of nonoscillatory solutions of higher order nonlinear neutral equations, Appl. Math. Lett., 25(3), pp. 412-416.
- [5] Candan, T. and Dahiya, R. S., (2013), Existence of nonoscillatory solutions of higher order neutral differential equations with distributed deviating arguments, Math. Slovaca, 63(1), pp. 183-190.
- [6] Candan, T., (2015), Nonoscillatory solutions of higher order differential and delay differential equations with forcing term, Appl. Math. Lett., 39, pp. 67-72.
- [7] Erbe, L. H. and Kong, Q. and Zhang, B. G., (1995), Oscillation Theory for Functional Differential Equations, Marcel Dekker, Inc., New York.
- [8] Györi, I. and Ladas, G., (1991), Oscillation Theory of Delay Differential Equations With Applications, Clarendon Press, Oxford.
- [9] Tian, Y., Cai, Y. and Li, T., (2015), Existence of nonoscillatory solutions to second-order nonlinear neutral difference equations, J. Nonlinear Sci. Appl., 8, pp. 884-892.
- [10] Yang, A., Zhang, Z. and Ge, W., (2008), Existence of nonoscillatory solutions of second-order nonlinear neutral differential equations, Indian J. Pure Appl. Math., 39(3), pp. 227-235.



Bengü Çına graduated from Cumhuriyet University with a bachelor's degree in mathematics in 2003. She earned her master's degree in 2012 from Erciyes University. Currently, she is pursuing her doctorate degree at Erciyes University. She has been working as a lecturer in Gemerek Vocational School at Cumhuriyet University, Turkey, since 2009.



Tuncay Candan received his M.Sc and Ph.D degree in Applied Mathematics from the Department of Mathematics at Iowa State University, USA. He is currently a Professor of Mathematics at American University of the Middle East, Kuwait. His research interests are Oscillation theory, Functional differential equations and Dynamic equations on time scales. He is reviewer of many international journals.



M. Tamer Şenel received his B.S., M.S. and Ph.D. degrees in Department of Mathematics, Erciyes University in 1992, 1996 and 2003, respectively. He has been serving as an Associate Professor in the Department of Mathematics at Erciyes University, Turkey, since 2014. His research interests are oscillation theory of differential equations